FAE ZWMASTRELT

BREY 1 0
2 A
o REELURLTTINR FrREAR
ﬁj% : (a+b)(a-b) = a- b?
(27°-1)+(-f)
= BT
B (2x+3)(2x-3) = 4x3 -9
B2 R SEEEALR
o a"Xa'=g™"
. (@) =a% (a+b)? = a2+ 2ab + b?
L (a-b)?> = a?-2ab + b?
5+
-42(22"+3z-1) BilF
= ‘81’3‘12:32-}—4,’1} ( - 2y)2
5+ x=a2y=b

(z+b)(-32+Tb)
_ -32+-Tzb-3zb+Th’
= -3z +4zb+Th = x* + 4xy +4y°
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1 | (46°+3b+2)-(9v"-70)

2 | Bz+5)+(5z-9)

3 (7b+3c)+(-8b+5c)

4 | y'-2[4y’+6(y-3)-4(2y-1))

S Tab-3a’b’ +7+8ab +3a%h -3-Tab

6 | (4zy+5y°)-(3zy-2y°)-(zy+3y’)

7 2(z*+1)+4(z*-1)

8 (22°+ zy+3y*)-(2*-zy +29°)

9 (7a2-5)-(4a-3)+(2a+1)

10 | (z*-3z)+(5z+2)-(2*+3)

11 | 3z+[2z+3y-(4z-Ty)]

12 Ta+[4a-6b-(8a+2b))

13 | 4z-(6z-2y)+(22-Ty)

14 | a+(3a-2b)-(4a-3b)

15 | (72'y*+3z')-(5a’y*-2z)

16 | (z*-22)(3z-4)=

17 | (3z-2y)(2z-3y)=
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18 | (z+y)

19 | (z*-2z2+1)=(z-1)=

20 | 42°+92%*-102-3+ (2 +3)=(z-1)=
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21 | -2+ = (z-1)=

22 | (*-z)+(z-1)=

23 | (z*4z)=(z+1)=

24 | (6z*-z*-14z+3)+(22-3)=

25 a(-5a)-(-7a*)+(-10a*) = (-2a)=

26 | z*-222+1+(z-1)=

27 | 2’+42°+9z2+k+(2-2),k="7

28 2zt -2*-22+ 9z = (2z-1)=

29 | 22*+4z-45+(z+6)=

30 | (154+3a-Ta’>-4a’)+5-4a=

31 | y-13y+36+y-4—

32 | 18z°+42*-12z+3z=

33 | (36z°y*+122°y"-48z%y)+ 62’y =

34 (4c2d—803d2)+(—2cd):

35 | 62°+32*-3z+-3z=

36 | (ab+ac)+a=

37 | (ab) =(2ab) =

38 | (6ab+5b)+b=

39 12a3b2+(-12a3b2)=

40 | 6ab =2ab=

41 | 35y’ +Ty’=
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42 | 3a*+6a’=

43 | (0.05)'+0.2=

4 | gry=pay=q(z+y) =
45 | z(z+1)(z-3)(z+2)=
46| 3(ta-2a-a))-

47 | (6n’-6n-5)(Tn’+6n-5)=
48 | (Tr*-6r-6)(2r-4)=

49 | (n*4+6n-4)2n-4)=

50 | (7k-3)(K'-2k+7)=

51 | (4a+2)(6a*-a+2)=

52 | (8p-2)(6p+2)=

53 | (4p-1)=

54 | (z-3)(62-2)=

55 | (4n+1)(2n+6)=

56 | (2n+2)(6n+1)=

57 | 2z(-2z-3)=

58 | -4(v+1)=
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60 | 6v(2v+3)=

61 (abQ)S(ab4)=
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(3z*-z+5)(z*+3z)=
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65 745:1:—y:10,:1:2—{—3/2:120,:1:_7/ B ?
66 " 24y =41,2y=20,(z+y) .
67 %x_%:ﬁ,ﬁ; _
68

2 0 +b=2,ab=3,(a+0) B

69

B (2a—|—3b—i—c)2
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% (z°-4)(z°+4)=z"+16,m=
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